
kdtree_create(points)
sort_x <- points sorted by x (lon)
sort_y <- points sorted by y (lat)

root <- kdtree_create_helper(sort_x, sort_y)

kdtree_create_helper(sort_cut, sort_other)
if sort_cut has 0 points, return NULL
node <- new node containing middle point from sort_cut
cut_left <- 1st half of sort_cut
cur_right <- 2nd half of sort_cut
other_left <- pts from sort_other to left of middle
other_right <- pts from sort_other to right of middle
node->left <- kdtree_create_helper(other_left, cut_left)
node->right <- kdtree_create_helper(other_right, cut_right)
return node
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